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a]Ã^  f ªªJÙÁÃ[˝ H∞RÙOÁ (Time : 4 Hours) 
Y…SÔ]ÁX  f 100 (Full Marks : 100)  
]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ( Weightage of Marks : 70% ) 

 
Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 

%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 
ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 

Special credit will be given for accuracy and relevance 
in the answer. Marks will be deducted for incorrect 

spelling, untidy work and illegible handwriting. 
The weightage for each question has been 

indicated in the margin. 

Part – I 

( ◊XÃ[˝›l˘Á `Áÿóˆ ) 

◊[˝\ˆÁG — Eı 

             Â^-ÂEıÁ„XÁ AEı◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX* 20 × 1 = 20 
1. a) %\ˆÓ‹ôˆÃ[˝›S ◊X[˝ÁÃ[˝Eı [˝Ó[˝ÿöˆÁ ◊Eı ? %\ˆÓ‹ôˆÃ[˝›S ◊XÃ^‹óˆS 

[˝Ó[˝ÿöˆÁÃ[˝ a„Ü AÃ[˝ YÁUÔEıÓ ◊Eı ? 

 b) %\ˆÓ‹ôˆÃ[˝›S ◊X[˝ÁÃ[˝Eı [˝Ó[˝ÿöˆÁÃ[˝ a«◊[˝W˝Á C %a«◊[˝W˝Ám◊_ 
%Á„_ÁªJÙXÁ EıÃ[˝”X* ( 4 + 6 ) + 10 

2. a) %‹ôˆ[˝ÔTˆfi _\ˆÓÁe` [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? %‹ôˆ[˝ÔTˆfi 
_\ˆÓÁe` ÂHÁbSÁÃ[˝ a]„Ã^ ◊Eı ◊Eı ◊[˝bÃ^ ◊[˝„[˝ªJÙXÁ EıÃ[˝Á 
Y“„Ã^ÁLX ? 

 b) %‹ôˆ[˝ÔTˆfi _\ˆÓÁe` ÂHÁbSÁ C Y“VÁ„XÃ[˝ Âl˘‰y AEıLX 
ÂEıÁ+ÁX› ◊XÃ[˝›l˘„EıÃ[˝ EıTˆ¤[˝Ó %Á„_ÁªJÙXÁ EıÃ[˝”X*8 + 12 

◊[˝\ˆÁG — F 

              Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX* 12 × 2 = 24 

3. W˝ÁÃ[˝Á[˝Á◊c˜Eı ◊XÃ[˝›l˘Á ◊Eı ? AÃ[˝ a«◊[˝W˝Ám◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

  12 

4. Â_X„V„XÃ[˝ aTˆÓTˆÁ ^ÁªJÙÁc˜OEıÃ[˝S ◊Eı ? %ÁY◊X ◊Eı\ˆÁ„[˝ 
◊X∂oˆ◊_◊FTˆ ◊[˝bÃ^m◊_Ã[˝ aTˆÓTˆÁ ^ÁªJÙÁc˜O EıÃ[˝„[˝X ? 

 (a) a«V C _\ˆÓÁe` ÂU„Eı %ÁÃ^, (b) Y◊Ã[˝ªJÙÁ_„EıÃ[˝ YÁ◊Ã[˝`“◊]Eı*  

  2 + ( 5 + 5 ) 

5. AEıLX ÂEıÁ+ÁX› ◊XÃ[˝›l˘„EıÃ[˝ Â^ÁGÓTˆÁ C %„^ÁGÓTˆÁ 
a+„EÔı 1956 aÁ„_Ã[˝ ÂEıÁ+ÁX› %Ác˜O„XÃ[˝ ◊[˝W˝ÁXm◊_ 
%Á„_ÁªJÙXÁ EıÃ[˝”X* 12 

6. mä a◊á˚◊Tˆ a+„EÔı ÂEıÁ+ÁX› %Ác˜OX, 1956-AÃ[˝ 
◊[˝W˝ÁXm◊_ ◊Eı ? A Y“a„Ü AEıLX ◊XÃ[˝›l˘„EıÃ[˝ EıTˆ¤[˝Óm◊_ 
%Á„_ÁªJÙXÁ EıÃ[˝”X* 5 + 7 
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◊[˝\ˆÁG — G 

               Â^-ÂEıÁ„XÁ AEı◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX* 6 × 1 = 6 

7. ae◊l˘ä ªRÙO›EıÁ ◊_F«X : ◊XÃ[˝›l˘Á ZıÁc˜O_* 

8. X]«XÁ YÃ[˝›l˘ÁÃ[˝ a›]Á[˝à˘TˆÁm◊_ ◊Eı ? Ac˜O a›]Á[˝à˘TˆÁm◊_ 
V…Ã[˝›EıÃ[˝„SÃ[˝ LXÓ ◊Eı ◊Eı aTˆEÔıTˆÁ]…_Eı [˝Ó[˝ÿöˆÁ ÂXCÃ^Á 
Y“„Ã^ÁLX [˝„_ %ÁY◊X ]„X Eı„Ã[˝X ? 

Part – II 

( Y◊Ã[˝ªJÙÁ_X ◊c˜aÁ[˝◊[˝VÓÁ ) 

◊[˝\ˆÁG — H 

             Â^-ÂEıÁ„XÁ AEı◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX* 20 × 1 = 20 

9. ◊X∂oˆ◊_◊FTˆ TˆUÓÁ[˝_›Ã[˝ ◊\ˆ◊w¯„Tˆ EXCEL Ltd.-AÃ[˝ AEı◊ªRÙO 

XGV Y“[˝Ác˜ ◊[˝[˝Ã[˝S› Y“ÿô«ˆTˆ EıÃ[˝”X*  

                              Balance Sheet                (Rs. '000) 
Liabilities 31.3.16 

Rs. 
31.3.15 

Rs. 
Assets 31.3.16 

Rs. 
31.3.15 

Rs. 
Equity shares  
           (Rs.10) 
Profit & Loss  
               A/c 
10% Debent- 
             ures 
Creditors 
Provision for  
        Taxation 
Depreciation  
   on Building 
Depreciation  
 on Machinery 

 
4300 

 
640 

 
2050 
650 

 
125 

 
600 

 
300 

8665 

 
4000 

 
980 

 
2200 
800 

 
100 

 
500 

 
200 

8780 

Building 
Machinery 
Land 
Prepaid  
      Expenses 
Inventory 
Debtors 
Cash and Bank

2500 
2000 
1500 

 
65 

1400 
800 
400 

 
 
 
 
 

8665 

2500 
1600 
1800 

 
80 

1550 
650 
600 

 
 
 
 
 

8780 

 %◊Tˆ◊Ã[˝N˛ TˆUÓÁ[˝_› : 
i) Dividend paid during the year Rs. 45,000 
ii) Land was sold for cash at a profit of        

Rs. 50,000 
iii) Machinery costing Rs. 2,00,000 (w.d.v.     

Rs. 40,000) was sold for Rs. 30,000. Also 
machinery costing Rs. 6,00,000 was 
purchased. 

iv) Amount transferred to provision of taxation 
during the year Rs. 1,60,000. 20 

10. ◊X∂oˆ◊_◊FTˆ TˆUÓÁ[˝_›Ã[˝ ◊\ˆ◊w¯„Tˆ X Ltd.-AÃ[˝ AEı◊ªRÙO =•Tˆ¤Yy 
Y“ÿô«ˆTˆ EıÃ[˝”X* 

 Annual sales — Rs. 36,00,000 
 Sales to Net worth — 4 times 
 Current liabilities to Net worth — 50% 
 Total Debt to Net worth — 80% 
 Current ratio — 3 : 1 
 Sales to inventory ratio — 6 times 
 Average collection period — 73 days 
 Fixed Assets to Net worth — 30% 20 

◊[˝\ˆÁG — I¯ 
              Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX* 12 × 2 = 24 
11. AEı◊ªRÙO ÂEıÁ+ÁX›Ã[˝ GTˆ V«[˝ªK˜„Ã[˝Ã[˝ EıÁ^ÔEıÃ[˝› Zı_ÁZı_ ◊X‰ªJÙ 

ÂVCÃ^Á c˜_ : 
  Year Sales (Rs.) Profit (Rs.) 
  2000 2,70,000     6,000 
  2001 3,00,000   15,000 
 ÂEıÁ+ÁX›◊ªRÙOÃ[˝ [˝ÓÃ^ EıÁPˆÁ„]Á C ◊[˝y‘„Ã^Ã[˝ AEıEı Y“◊Tˆ ]…_Ó 

=\ˆÃ^ [˝ªK˜„Ã[˝c˜O a]ÁX %Á‰ªK˜ [˝„_ W˝„Ã[˝ ◊X„Ã^ ◊X‰∂oˆÁN˛ 
◊[˝bÃ^m◊_ GSXÁ EıÃ[˝”X : 

 (i) P/V ratio, (ii) Fixed cost, (iii) Break-even point, 
(iv) Margin of safety at a profit of Rs. 24,000. 

  3 + 3 + 3 + 3 



 QP Code : 18UT76ECO8 QP Code : 18UT76ECO8 2  

B.Com.-11666-W   [ Y„Ã[˝Ã[˝ Y úˆÁÃ^ V–rÙ[˝Ó B.Com.-11666-W  

12. The cost of a product at capacity level of        
5000 units is given under Column A below. For a 
variation of 20% in capacity above or below this 
level, the individual expenses vary as indicated 
under Column B below : 
 A (Rs.) B 

Material cost 

Labour cost 

Power  

Repairs and maintenance 

Stores 

Inspection 

Depreciation  

Administrative overheads 

Selling overheads 

 

Cost per unit 

50,000 

30,000 

2,500 

4,000 

2,000 

1,000 

20,000 

10,000 

6,000 

1,25,500 

25·10 

(100% varying) 

(100% varying) 

(80% varying) 

(75% varying) 

(100% varying) 

(20% varying) 

(100% fixed) 

(25% varying) 

(50% varying) 

 4000 units and 6000 units =dYÁV„XÃ[˝ ÿôˆ„Ã[˝ V–[˝Ó◊ªRÙOÃ[˝ 
Y“◊Tˆ◊ªRÙO FÃ[˝‰ªJÙÃ[˝ ◊c˜aÁ[˝ac˜ AEıEı Y“◊Tˆ =dYÁVX [˝ÓÃ^ ◊XSÔÃ^ 
EıÃ[˝”X* 12 

13. ◊X‰∂oˆÁN˛ TˆUÓÁ[˝_›Ã[˝ ◊\ˆ◊w¯„Tˆ MX Ltd.-AÃ[˝ EıÁ^ÔEıÃ[˝› 
]…_W˝„XÃ[˝ Y“„Ã^ÁLX›Ã^TˆÁ ◊XW˝ÔÁÃ[˝S EıÃ[˝”X : 
i) Expected activity level 10400 units p.a. 

with selling price p.u. of Rs. 5 
ii) The expected ratios of cost to selling prices 

are as follows : 
a) Raw materials — 40% 
b) Direct wages — 10% 
c) Overheads — 30% 
d) Profits — 20% 

iii) Raw materials are expected to remain in 
store for 2 months and the average 
processing time is 6 weeks 

iv) Finished goods storing period is 6 weeks 
v) Credit allowed to customers is 2 months. 

Credit received from creditors is for                   
2 months 

vi) Lag in payment of wages and overhead is   
2 weeks 

vii) Cash in hand and bank is expected to be 
Rs. 10,000. 

 It is to be noted that production is carried on 
evenly during the year and wages and overhead 
accrue similarly. Assume 1 month = 4 weeks. 12 

14. Y◊Ã[˝ªJÙÁ_X ◊c˜aÁ[˝◊[˝VÓÁÃ[˝ =„ï`Óm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 12 

◊[˝\ˆÁG — ªJÙ 

               Â^-ÂEıÁ„XÁ AEı◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX* 6 × 1 = 6 

15. %X«YÁTˆ ◊[˝‰`¿b„SÃ[˝ a›]Á[˝à˘TˆÁm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 6 
16. [˝Á„LªRÙO Ã[˝ªJÙXÁ C [˝Á„L‰ªRÙOÃ[˝ ]ÁW˝Ó„] ◊XÃ^‹óˆ„SÃ[˝ a«◊[˝W˝Ám◊_ 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 6 
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English Version 

Part – I 

( Auditing ) 
Group – A 

  Answer any one question. 20 × 1 = 20 
1. a) What is Internal check system ? How is it 

different from Internal control system ? 
 b) Discuss the advantages and disadvantages 

of Internal check system. ( 4 + 6 ) + 10 
2. a) What do you mean by interim dividend ? 

What factors will you consider while 
declaring interim dividend ? 

 b) Discuss the duties of a company auditor 
with respect to declaration and payment of 
interim dividend. 8 + 12 

Group – B 
  Answer any two questions. 12 × 2 = 24 
3. What is Continuous Audit ? Discuss its 

advantages. 12 
4. What is Voucing ? How will you vouch the 

following items ? 
 (a) Interest and Dividend Received, (b) Director's 

Remuneration. 2 + ( 5 + 5 ) 
5. Discuss the provisions of Companies Act, 1956 

regarding qualifications and disqualifications of a 
Company Auditor. 12 

6. State the provisions of Companies Act, 1956 with 
respect to Secret Reserves. Discuss the duties of 
an auditor in this respect. 5 + 7 

Group – C 

  Answer any one question. 6 × 1 = 6 

7. Write a short note on Audit File. 

8. What are the limitations of Test checking ? What 

precautionary measures will you suggest to 

overcome such limitations ? 

Part – II 

(Management Accounting) 

Group – D 

  Answer any one question. 20 × 1 = 20 

9. Prepare a Cash Flow Statement of EXCEL Ltd. 
from the following information (figures in          
Rs. '000) 

Balance Sheet 
Liabilities 31.3.16 

Rs. 
31.3.15 

Rs. 
Assets 31.3.16 

Rs. 
31.3.15 

Rs. 
Equity shares  
           (Rs.10) 
Profit & Loss  
               A/c 
10% Debent- 
             ures 
Creditors 
Provision for  
        Taxation 
Depreciation  
   on Building 
Depreciation  
 on Machinery 

 
4300 

 
640 

 
2050 
650 

 
125 

 
600 

 
300 

8665 

 
4000 

 
980 

 
2200 
800 

 
100 

 
500 

 
200 

8780 

Building 
Machinery 
Land 
Prepaid  
      Expenses 
Inventory 
Debtors 
Cash and Bank

2500 
2000 
1500 

 
65 

1400 
800 
400 

 
 
 
 
 

8665 

2500 
1600 
1800 

 
80 

1550 
650 
600 

 
 
 
 
 

8780 
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 Additional information : 

i) Dividend paid during the year Rs. 45,000 

ii) Land was sold for cash at a profit of         

Rs. 50,000 

iii) Machinery costing Rs. 2,00,000 (w.d.v.     

Rs. 40,000) was sold for Rs. 30,000. Also 

machinery costing Rs. 6,00,000 was 

purchased. 

iv) Amount transferred to provision of taxation 

during the year Rs. 1,60,000. 20 

10. From the following data relating to X Ltd., 

prepare a Balance Sheet of X Ltd. : 

 Annual sales — Rs. 36,00,000 

 Sales to Net worth — 4 times 

 Current liabilities to Net worth — 50% 

 Total Debt to Net worth — 80% 

 Current ratio — 3 : 1 

 Sales to inventory ratio — 6 times 

 Average collection period — 73 days 

 Fixed Assets to Net worth — 30% 20 

Group – E 
  Answer any two questions. 12 × 2 = 24 
11. The operating results of a company for the last 

two years are as follows : 
  Year Sales (Rs.) Profit (Rs.) 
  2000 2,70,000     6,000 
  2001 3,00,000   15,000 
 Assuming that the cost structure and selling 

prices per unit remain the same in both the 
years, find out : 

 (i) P/V ratio, (ii) Fixed cost, (iii) Break-even point, 
(iv) Margin of safety at a profit of Rs. 24,000. 

  3 + 3 + 3 + 3 
12. The cost of a product at capacity level of        

5000 units is given under Column A below. For a 
variation of 20% in capacity above or below this 
level, the individual expenses vary as indicated 
under Column B below : 
 A (Rs.) B 
Material cost 
Labour cost 
Power  
Repairs and maintenance 
Stores 
Inspection 
Depreciation  
Administrative overheads 
Selling overheads 
 
Cost per unit 

50,000 
30,000 
2,500 
4,000 
2,000 
1,000 

20,000 
10,000 
6,000 

1,25,500 
25·10 

(100% varying) 
(100% varying) 
(80% varying) 
(75% varying) 
(100% varying) 
(20% varying) 
(100% fixed) 
(25% varying) 
(50% varying) 

 Find the cost per unit of the product under    
each individual expenses at production level of  
4000 units and 6000 units. 12 
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13. Determine the working capital requirement of MX 

Ltd. on the basis of the following information : 

i) Expected activity level 10400 units p.a. 

with selling price p.u. of Rs. 5 

ii) The expected ratios of cost to selling prices 

are as follows : 

a) Raw materials — 40% 

b) Direct wages — 10% 

c) Overheads — 30% 

d) Profits — 20% 

iii) Raw materials are expected to remain in 

store for 2 months and the average 

processing time is 6 weeks 

iv) Finished goods storing period is 6 weeks 

v) Credit allowed to customers is 2 months. 

Credit received from creditors is for                   

2 months 

vi) Lag in payment of wages and overhead is   

2 weeks 

vii) Cash in hand and bank is expected to be 

Rs. 10,000. 

 It is to be noted that production is carried on 

evenly during the year and wages and overhead 

accrue similarly. Assume 1 month = 4 weeks. 12 

14. Discuss the objectives of Management 

Accounting. 12 

Group – F 
  Answer any one question. 6 × 1 = 6 

15. Discuss the limitations of ratio analysis. 6 

16. Discuss the advantages of budget preparation 

and budgetary control. 6 

    


